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AGE
EDUC
FAMILY
INCOVE
PLAN

SELF

16

9-15

17-18

3-8



13

0

Rz change

o @

o

SE est.
S.E. | !



20

21 -

31

30

4
142
15

194

136
45
18

14

23.0
69.0
1.4

95.1
3.4
1.0
0.5

0.5
66.7
22.1

6.8

2.0



46
98
15
37

92
112

f
2,000 13
2,000 - 4,000 100
4,001 - 6,000 11
6,000 20

59
145

22.5
48.0
1.4
18.1
3.9

45.1
54.9

35.8
49.0
5.4
9.8

28.9
1.1

15



16

2
21-30 69.0
3l 1.4
95.1 ,
3.4 1.0 0.5
66.7 mei Uit
0.5 , 48.0
1 3.9
54.9 45.1
2,000 - 4,000 49.0
4,001 - 6,000 5.4 ,
71.1 28.9
2 |
68

2.1 1



—

50 - 5.00)
(3.50 - 4.49)
(250 - 3.49)
a .50 -2.49)
(1.00 - 149)

64.2 ,

*|

1.4

15
131
56

204

*|

*|

"7

1.4
64.2
27.5

100

21.5

1.0



4.29

3.92
' 3.28

3.16

3.94

(204) 3.78

3.92, 3.76 3.94
3.28

S.D.

0.73

0.84
0.85

0.70

0.55

0.58

4.29,

18



79

22 )

5
()
(3.01 - 5.00) 182 89.2
(1.00 - 3.00) 22 108
204 100
5 | VA 89.2

10.8



22.5

2.3

(450 - 5005
(3.50 - 4.49)
(250 -~ 3.49)
(150 - 2.49
(1.00 - 1.49)

62.7

28
128
46

204

1.0

80

13.7
62.7
22.5

1.0

100

"

13.7



11.3

2.4

(4.50 -
350 -
(2.50 -
(1,50 -
(1.00 -

36.3

!

48.5

81

()

2 113
99 48.5
74 36.3
B 3.9

0 0

204 100

3.9 ,



«

3.89

3.67
3.78
3.57

SD.

0.63

0.73
0.58
0.53

82



«

«

«

68

(Roscoe

2521

60)

83

«

10



2 (N= 47)
2 (N = 157)

fl9

05

S.D.

13.49 0.97
15.36

14.95

84



10

fN=194)
(N 10)

204

10

113.62
103.00

113.46

« |

.05

85

utnnr



11 ®

N=1%) 110,93
(N 45) 11867
(N2 11836

203 11345

*P< 01

11 ! iki

fScheffe’s Method)

*|

01 !

SD.
15.50
11.56
14.54

14.99

01
!

*|

6.13**

86
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r ?
n F.
X )
(N=45) 116.18 15.55 2.96%*
(N=98) 114.43 12.78
<N=15) 115.93 12.96
(N=46) 107.91 18.02
204 113.46 14.95
* P < 01
12 IWIlhw ,
4
4
m ! 01

cheffe’s Method' 4

87
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(N=02>
(N=112>

204

13

113.39
113.50

113.46

S.D.

16.43
13.69

14.95

~G5

.05

88
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1.
X
2000 (=73 10688
2000 - 4000  (N=100) 11627
4,001 (N=31)  119.87
04 11346

P < 1

14

(Scheffe ™ method)
2,000-4,0000

4,001
2,000

S.D.
14,58
14.16

12.87

14.95

13.09**

89

i

01
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** P <01

15

(N= 59)
(N=145)

204

108.59
115.43

113.46

*|

S.D.

15.22
14.42

14.95

90

*|

-2.95%*
gl

01



91

4
16
'VFA) (AGE) (EDUC)
(FAMILY) ! (INCOME'
(PLAN) (SELF'
\\B i (MARRY' ’ | (300
VFA AE  EDUIC FAMILY INOOVE PLAN SELF MARRY soc

VFA
ACE -0.070

EDUC  0.194%* 0.171**
FAMILY ~ 0.004 -0.012 -0.086

INCOVE  0.289%* 0.179** 0.504**-0.176

PLAN 0.208**-0.023  0.038 -0.013  0.251**

SELF 0.528%* 0.039 0223° 0.041  0.287** 0.366*
MARRY  0.594**.0.061 0.083  0.003  0.235%* 0.417** (648"
S0C 0.676**-0.059  0.220%* 0.006  0.288** 0.275** 0.601

“"p< .0l
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\f?a

: 3 = ¢
16 uﬁﬂQ?WﬂQWNQﬁWNQSMQWQNW1ﬂ7uaznﬁ1ﬂ1uﬂ11ﬂﬂ

<r =0.194, 0.289, 0.208, 0.528,

0.594, 0.676) IR
V) , «
.05
(r =-0.070, 0.004)
»
01
(r =0.171, 0.179) ’

05 (r=-0.012, -0.023, 0.039, -0.061, -0.055*

«

1 01 <r = 0.504, 0.223, 0.220)

.05 (r=-0.086, 0.038, 0.083*
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01 (r =-0.176) « 1

/ 05 (r =-0.013, 0.041, 0.003, 0.006)

01
< =0.251, 0.287, 0.235, 0.288)

1 01 (r =0.366, 0.417, 0.275)

/ 01 (r =0.648, 0.601)

01 0r =0.694) !
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but! 5 # ™|
7 R)
(RZ) il
(R2 change)
= e R R2 R2 change F
C 0.6763 0.4574 0.4574 170.258**
VARRY 0.6983 0.4877 0.0303 95.656**
** p< (1
17 'S0C)
IMARRY)
nm 01 ,
(SOC) 0.6763
01 I (MARRY)
0.6983
01
‘SO0
m {

01 0.4574 (RZ = 0.4574' !



(S0C 't
45.74 (MARRY)
0.4877 (R2 = 0.4877)
01
(S0C) (VARRY)
! 48.77
(MARRY) !
3.03 (R2change = 0.0303)
2 (SOC)
(VARRY)
b o« @
(SE. ) (t>

95



18 , J (b)
] (£}
(S.E.b>
(t) L (R)
(S.E.-b) (a)
P S.E.b t
oC 0.4346 0.5086 0.0599 7.259**
MARRY 0.2161 0.2416 0.0627 3447
R =0.6983 Rz = 0.4877
= 10.7531 a =46.2471

overall F = 95.6554**

P < 01
18
(S0C) (B =0.5086'
(VARRY) (B=0.2416) \
N
| 0 1] )
Y = 462471 + 04346 ASOC +0.2161 (VARRY
J
Z = 05086 (SOC) + 02416 (VARRY)

!
I 48.71
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